Qiestio 1 (valor: 2.5 pontos)
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Minclude<atdio. h>»
int main(){

int nusp, ¥, x, Y. Z, &, £, i:

printf ("Entre com seu No. U3

oF
acanf (“id", knusp):
v (nusp/1000) % 10:
X (nusp/100) % 10;
y = {nusp/10) % 10:
z = nusp % 10;
1= 0
prantf("pd: w = ¥d, x = ¥d, vy =%d, =z = %4 \n", i, ¥, x z)
v o= 100 = u;
y= 10 = y;
£2= z - 10;
L o= 141
prinef("id: w = Yd, x = Yd, y = %d, z = %d ‘n W, X, ¥, Z)
t=0;
while (t == Q) {
t= -
it (w x) {
a w:
W t H
X = a;
t = 0;
}
if (x » {
A=y
X = ¥
y ® R
t L
}
it (y z) {
i ¥:
¥ ¥
=,
t = 0
}
i = =]
priotf("%d: w = %d, x = %d, v = %d, 2z = %4 w1, 9, %
!
return U,
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